 
	Ques. 14.
	Which of the following is not an owner's equity account? 

	
	A.
Common stock. 

B.
Capital stock. 

C.
Retained earnings. 

D.
Minority interests. 

E.
Paid-in-capital in excess of par. 




	[image: image1.png]



	Points Earned:
	0/2

	Your Response:
	D


	Ques. 16.
	An entity's current ratio will be influenced by: 

	
	A.
The inventory cost flow assumption used. 

B.
Paying off a long term liability 

C.
The depreciation method used. 

D.
Accrued expenses 
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	Points Earned:
	0/2

	Your Response:
	D


	Ques.18.
	During the year, Shole Company purchased $1,920,000 of inventory. The cost of goods sold for the year was $1,800,000 and the ending inventory at December 31 was $360,000. What was the inventory turnover for the year? 

	
	A.
6.4 

B.
6.0 

C.
5.0 

D.
5.3
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	Points Earned:
	0/2

	Your Response:
	C


	Ques.26.
	Factors that usually affect retained earnings directly include: 

	
	A.
Net income or loss, and dividends. 

B.
Extraordinary items and losses from discontinued operations. 

C.
Stock dividends and gains or losses from the sale of treasury stock. 

D.
Net income or loss, and the issuance of stock at an amount in excess of par value. 
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	Points Earned:
	0/2

	Your Response:
	D


	Ques.37.
	A potential creditor's judgment about granting credit would be most influenced by the potential customer's: (ability to pay back) so: 

	
	A.
Current ratio at the end of the prior fiscal year. 

B.
Most recent acid-test ratio. 

C.
Times interest earned ratio. 

D.
Practice with respect to taking cash discounts offered by current suppliers. 
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	Points Earned:
	0/2

	Your Response:
	B


